SIELL

&

%

=
H

H25.11.12

=

£3

AE#HU—15EmMEYvAh—1)—4- 2013 15)—4F EfE

=
=]

BY—J180 LB -ATH TR %

| oo o ™ ~ o~ o © =
# N N ] — < ® o =
m1 N © Lo ™ ™ © <r
o[ © < Ty} ™ © ™ —
Sa
._._Hmz © (0] o Lo ™ r~
%2 ~ — ™ — ™ — e
E_HRS t|lo|lst]|o|o|~|Y
Kl - || mwm|]o|]o|o|«a]| o
_
@)

[ >~ o || 2| L] - | ©w |-
n_*OO__|00300.|004_25
P A P P AN A R R AR Y IR

~ oY o|ojolojo|o/~N~Llols
2 e
Al s e N | o | == o<t
7__0_________ I ||
|| 20| | [t w]|m|Ofw| v N[O
E50343n_v1473 o[10[~|®
sl ] {1 ] _O_ [{1]1 RN
ut21.|3.|.|02.|5 1102
N[O N =M — O —[0|M OO~
wfp PP rprprprprgl Ffrpeprpryl
Rl o] ||| © N o[t~ O
m SIS <|lolo|lN|<s|w|o|lo
ol LT eyl
N —]|O| < |O|™ O|r|r— ||~ |O|O0|O
TN (B BTy olm|a|m|— O~ |<|w|o©
Hf T T]1]]1 AR AR A
N[N~ |0 NG IR IPIPN IR [l
NS ~ w|o|t|n|t|-|0Clwv[N o

[ eyl I |
.W.I.I 15233134._I3._IO
ﬂ b I R B R e DN
i e ey ey eyprprpngl
M N |- [« |Oo| || o]~ |<|O|O

“_n_ X ik =

s N
.
N DT R N




[ U—13EBMEYvyAH—)—4-2013 18— HiEx

21— 188 (U-13) LB BTH TR &R H) H25.9.28
73— | YrERX | JxIT BX H3/ R J7I)L R _B—o2-8 Ba | 55 | X5 [BEa2] B
73—3 1=0 1:2 py— ::? - 8=0 ds5|1]|2| 16 16 9 7
A 0—1 0—1 4—1 2—3 — 1-0
ER

J7 01 3=0 11314 10 1 8 3
JIF g:} 1=0 1= 472 t4l2|of| 14 12 6 6
RS 1:3 1:1 (23:2 M=01lol2]3| s 17 14 3
hz/ o 278 1 274 11020 }41o|3| 3 15 1 4
BiR 1:2 g:g g:g 8=2 g:; 6|0|3| 18 25 14 11
JrIIL % — 4-2 1110 4 6 4 2
EZES 0=3 ?:1 2—4 | 0—11 | 0210 ;:g o|1]|7]| 1 4 40 | A36




SHEHU-15EREYyAh—1)—452013 1&81)—4 HER
*t B
0] A H S ER = 15 wE
"—LF—L |vs| POxzA4F—L
5838 (#) 10:00 FC72—3 |vs £ &R EETRAR—VES
10:00 | FCU7IJ)L |vs g X
B | : - LN
11:30 | SCERTITF |vs FCH=/
48138 (x) | 14.00 B K vs| BRRY7ER | EYREYTG
/X Vs M K rep yaale
5818H (1) - -
SCEWMTIT |vs| EMIT7ER | EHAKAE
F 28 10:00
48298 (1) £ &R vs FChz/ ERPG
5818H (L) FCY7I)L |vs| FC7I—I |BBEGERKE—VLS
5868 (#1) 1000 ERJ7ERX |vs £ &R EYREZHTG
g | SASE GV ' FCH3/ |vs| FCY7IL tgHG
5O EN
5868 (#1) 14:30 B K vs| FC7z—3 EYREZHTG
5838 (1) B X vs| SCERTTT =P ==l
FCHh3/ vs W K &G
58128 (H) | 10:00
FC73=—3 |vs| SCERTIT [BEHWERR—VELE
EAHI —
14:00 x & vs g X ERPG
58118 (1)
10:00 | BERY7ER |vs| FCYU7IIL EYREZHTG
6H8H(+) | 1500 | SCEERMTIT |vs| FCH7IL 97_"**_%”;;
7H6H (L) x & vs W K ERHG
58
6898 (H) 10:00 FCh3/ vs| FC7z—3 EHhG
6A8H (L) EWMI7ER |vs B X BEHAKAER
78138 (x) | 15:00 B K vs| FCYU7I)L RIEE N E
o SCEWTIT |vs £ &R R ES N E
508
78148(H) | 10:00 FC73I—3 |vs| BERJ7ER |BBERRRAR—VLE
CERES Vs FCH=/ fBAXPG
10:00 | FCU7I)L |vs £ &R
11:30 B K vs| SCElRTTT
E78| 7H27A (L) - L&
13:00 | EERI7EX |vs FCh3/
1430 | FC73=—I |vs B2 X

* HEBHDLEIAIE,. F1REGEHE2HET— L. F2HEEE 1 HETF—L/FEI 4HEGLRAZKDO AR TER

EXRE R—LA:FTBEFE/ T BIE2 FHKREE)




SHEHU-15EREYyAh—1)—452013 1&81)—4 HER

*t B
0] A H H AR = 15 wE
"—LF—L |vs| POxzA4F—L
8HA18H(H) | 16:.00 x &R vs| FC7z—3 E=RPG
B/ X vs| FCU7IJL f@kehG
sE8fi| 8A11H(H) | 10:00 -
FCHs/ vs| SCERTTIT EHG
8178 (L) | 1400 | BRYF7ER |vs i A BEHAKAER
1400 m E Vs *E * 7‘y|‘7k%_;j§b§>9_
BEJ7ER |vs| SCEMTIT | EHAKAER
FOf | 8H24H (L)
10:00 FCHh3/ vs £ & —EETRG
FC7=—3 |vs| FCY7IJ)L REES /AN E
x & vs| BERJ7ER EREHG
9R1B(R) -
FCY7I)L |vs FCHhs/ &% EHMNLIE
E108E 10:00 .
8A31H (L) FC72—I |vs B R T RRR—VRE
9818 (R) SCEmMTIT |vs B/ X R EE AN E
10:00 B K vs FCh3/
11:30 | SCRETIT [vs| FCFP3I—3 ‘
E118| 98168 (£1) RENEFHNE
13:00 B2 XK vs £ &R
1430 | FCY7IJL |vs| BERY7ER
98238 (%) | 1000 | FCY7T)L |vs| SCERTIT | EEEFLAE
9oB21H(+) | 1400 | B & |vs| = & | 7ELEPT
128 =
FC7=—3 |vs FCh3/ BETRAR—YEE
9R238 (1) | 10:00 — - —
B/ X vs| BERJ7ER =P Naale
1400 | FCU7IJL |vs B R RELEFHNE
£ &R vs| SCElRTTT ERHG
%1381 108268 (£) - -
10:00 | BERY7ER |vs| FCPz—4d EHAKAE
FCHh3/ vs 2 X &G
1000 | SCEERTIT |vs BoOK Wk —
11A9E (£) o
11:30 = X vs| FC7I—3 ~ HXRE
4 o] Forer Tl BmaraA [ o T
: = vs RT)7 wh—
118108 (B) - AN
11:30 x R vs| FCYU7rIJL ~A—HXRA

HEBHOECAHE, E1

AEEFE2HET L. F2HGEF1HEGT—L/FE3 4G LRBED AR TENE
EXRE R—LA:FTBEFE/ T BIE2 FHKREE)






